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Combined Word Problems
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1. A tower is 159 feet high. If another tower is of 355 feet in height, what will be the total height of the two
towers?

2. Jenny has a book of 3 inches breadth. John has another book of 4 inches breadth. What will be the difference
of breadth of the books?

3. Ron’s height is 5 feet 2 inches. Drake is 6 feet 1 inches in height. What is the total height of Ron and
Drake?

4. Jane has a stick which is 52 inches long. If she takes another stick of 5 inches in length, what will be the
difference of length between the two sticks?
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